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Alphabet Test Questions for IBPS PO Pre, LIC AAO, SBI PO 
Pre and other competitive Exams 
Alphabet Test Quiz 12 

Directions: Read the following questions carefully and choose the right answer. 
 
1. If a meaningful English word has to be formed using 1st, 3rd, 5th and 8th letters of the word (each letter to be 
used once only) “SOUVENIR” then which of the following will be third letter of such word? If more than one such 
words can be formed then mark ‘M’ as your answer and if no meaningful English word can be formed then mark 
“P” as your answer. 
A. E    B. S    C. R 
D. M    E. P 
 
2. If a meaningful English word has to be formed using 1st, 4th, 5th, 8th, 9th and 15th letters of the word 
“Acknowledgement” such that one letter is used only once then which of the following is third letter of that word? 
If more than one such words can be formed then mark ‘X’ as your answer, If no such word can be formed then 
mark ‘Y’ as your answer. 
A. A    B. E    C. N 
D. X    E. Y 
 
3. If first, third and sixth letters of the word “LINGUIST” are changed to their immediately preceding letters as per 
English alphabet series and fourth and seventh letters are changed to their immediately succeeding letters as per 
English alphabet series, then how many letters (in English alphabet series) are there between the third and fifth 
letters of the newly formed word? 
A. 5    B. 6    C. 7 
D. 8    E. None of these 
 
4. If second, fifth, seventh and ninth letters of the given word are changed to their second next letter as per 
alphabet series then all the letters are arranged as per alphabetical order within the letter, then how many letters 
in english alphabet series are there between the fourth letter from left end and sixth letter from right end? 
PROPHYLACTIC 
A. 3    B. 4    C. 6 
D. 5 
E. More than 6 
 
5. If all the letters in the given word that come after 'M' in English alphabet series are either immediately 
preceded or immediately succeeded by a vowel then change such letter to its reverse letter as per the alphabet 
series then how many meaningful english words can be formed from the first, second, seventh and ninth letter of 
the newly formed word? 
PROPHYLACTIC 
A. 1    B. 2    C. 3 
D. 4    E. No meaningful word can be formed 
 
6. If in the word "SPIRITUAL", position of second and fifth letters is interchanged similarly position of fourth and 
sixth letter is interchanged with seventh and ninth letters respectively, then how many pair of letters in the new 
word have as many letters between them (either forward or backward) as they have in the English alphabet 
series? 
A. 3    B. 4    C. 5 
D. 6    E. None of these 
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7. If in the word “SKEPTICAL”, third , fifth and ninth letters are changed to their reverse letters as per English 
alphabet series and second, fourth and seventh letters are changed to their second next letters (as per alphabet 
series) then how many pair of letters has as many letters between them (either backward or forward) as they 
have in the English alphabet series? 
A. None    B. 1    C. 2 
D. 3    E. None of these 
 
8. If in the word "IRONICAL" all the vowels are changed to their second next letter as per English alphabet series 
and then all the letters are arranged as per reverse alphabetical order then how many letters in English alphabet 
series are between the third letter from right end and fifth letter from left end? 
A. 1    B. 2    C. 3 
D. Both the letters are same E. None of these 
 
9. If in the word "IRONICAL" a meaningful English word has to be made using 3rd, 4th, 7th and 8th letters of the 
word, then find the third letter of the word. If more than one words can be formed mark "M" as your answer. If 
no such word can be formed then mark 'X' as your answer. 
A. L    B. A    C. O 
D. M    E. X 
 
10. How many pair of letters in the word “PRUDENTIAL” has as many letters (either forward or backward) 
between them as they have in the English alphabet series? 
A. None    B. 1    C. 2 
D. 3    E. More than 3 
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Correct answer: 
 

1 2 3 4 5 6 7 8 9 10 

D D C D A C C D B D 

 
Explanation: 
 
 
1. 1st, 3rd, 5th and 8th letters of SOUVENIR are S,U, E and R. 

 
Meaningful English words formed so are - USER, RUSE and SURE. 
 
Hence option D is correct. 

 
 
2. 1st, 4th, 5th, 8th, 9th and 15th letters of the word “Acknowledgement” are A,N,O,E,D and T. 

 
The meaningful English words that can be formed are “DONATE” and "ATONED". 
 
Hence option D is correct. 

 
 
3. Given word : LINGUIST 

 
New word :   KIMHUHTT 
 
Third letter of new word is ‘M’ and fifth letter is ‘U’. 
 
Number of letters between M and U (in English alphabet series ) is 7. 
 
Hence option C is correct. 

 
 
4. Given Word: PROPHYLACTIC 

 
New Word: PTOPJYNAETIC 
 
Alphabetical Order: ACEIJNOPPTTY 
 
Fourth letter from left end and sixth letter from right end are 'I' and 'O' respectively. 
 
Number of letters in English alphabet series between I and O is 5. 
 
Hence option D is correct. 

 
 
5. Given Word: PROPHYLACTIC 

 
New Word: PIOKHYLACGIC 
 
Its first, second, seventh and ninth letters are: P, I, L and C. 
 
Meaningful word using these letters is "CLIP", which is a device used for holding objects. 
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Hence option A is correct. 
 
 
6. Given word: SPIRITUAL 

 
New word:  SIIUPLRAT 
 
 

P L R 
P Q R 

 
I U P L 
I J K L 

 
R A T 
R S T 

 
P L R A T 
P Q R S T 

 
U P L R 
U T S R 

 
Thus we can have 5 such pairs in the new word that have as many letters between them (either forward or 
backward) as they have in English alphabet series. 
 
Hence option C is correct. 

 
 
7. Given word: SKEPTICAL 

 
New word: SMVRGIEAO 
 
 

Letters in the word G I E 

Letters in alphabet series E F G 
 

Letters in the word M V R G I 

Letters in alphabet series I J K L M 
 
Clearly two such pairs are there. 
 
Hence option C is correct. 

 
 
8. Given word: IRONICAL 

 
New word: KRQNKCCL  
 
Arranging letters: RQNLKKCC 
 
Third letter from right end is K and fifth letter from left end is also K. 
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Hence option D is correct. 

 
 
9. Given word:  IRONICAL 

 
3rd, 4th, 7th and 8th letters of the word are - O, N, A and L. 
 
Meaningful English word is "LOAN". 
 
Third letter of LOAN is 'A". 
 
Hence option B is correct. 

 
 
10.  

 
E N T I A 
E D C B A 

 
D E 
D E 

 
R U D E N 
R Q P O N 

 
P R U D E N T I 
P O N M L K J I 

 
Clearly 4 such pairs are there in the given word. 
 
Hence option D is correct.  
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